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James didn’t contribute when we ordered pizza last week. 

James forgot his wallet when we went to in-n-out the other day. 

James took one of my yogurts out of the fridge.

Therefore, I think James is a mooch.


Mike likes playing slot machines.

Therefore, Mike has a gambling problem.


Mike likes playing slot machines.

Mike likes playing poker.

Mike likes playing blackjack.

Mike likes playing craps.

Mike likes playing roulette.

Mike likes playing pia gow.

Mike likes playing let it ride.

Mike likes playing duces wild.

Mike likes playing Baccarat.

And Mike like betting on sports.

Therefore, Mike has a gambling problem.


All the UCSB students I know like to party.

Therefore, all UCSB students like to party.


Every New Yorker jaywalk.

Therefore, American jaywalk.


538’s criterion:

The poll must include the name of the pollster es and details about the population sampled. If 
these are not included in the poll’s release, we must be able to obtain them in order to include the 
poll.

Pollsters must also be able to answer basic questions about their methodology, including but not 
limited to the medium through which their polling was conducted (e.g., landline calls, text, etc.), 
the source of their voter files and their weighting criteria.


I made a shot.

Therefore, I am good at basketball.


My horoscope was correct.

Therefore, horoscopes are correct.


According to US news and world report compilations of statistics provided by law schools, 93% 
of law school graduates have a job nine months after finishing law school. That's up nearly 10% 
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from 1997, when lost schools reported an average employment rate of 84%. The employment 
picture for lost school graduates is better than ever!


After a woman turns 40 the chances of her having a child with down syndrome doubles.


The water fountain at the end of hall says that it has prevented the use of 429,694 plastic bottles.


If kids phone use keeps growing at this rate, in the next few years they'll have no time left to 
sleep.

Therefore, in a few decades they will be using their phones 26 hours a day.


Generalization: all swans are white

Counterexample: There is at least one black swan


Mice metabolize this medicine very well.

Humans are like mice.

Therefore, humans will metabolize this medicine very well.


I told a joke to a mouse and the mouse didn’t laugh.

Humans are like mice.

Therefore, humans wont laugh at my joke.


Onions have layers.

Ogre are like onions.

Therefore, ogres have layers.
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